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QUESTION 1

If the probability of a success on a single trial is 0.2 and 3 trials are performed, what is the probability of at least one
success? 

A. 0.008 

B. 0.384 

C. 0.488 

D. 0.600 

Correct Answer: C 

 

QUESTION 2

A process has been experiencing problems lately. The operators charting the process have identified the cause to be
due to a change in incoming materials. This problem is 

A. Attributed to purchasing. 

B. A special cause. 

C. A common cause. 

D. A normal event. 

Correct Answer: B 

 

QUESTION 3

How many outcomes are possible when performing a single trial of a binomial experiment? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

QUESTION 4

An X-bar chart has shown control for a long time. You see that points for the last 50 samples are all very near the center
line on the chart. In fact, they are all within one sigma of the center line. This probably indicates that 
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A. It is a desirable situation. 

B. It is an undesirable situation. 

C. The process standard deviation has decreased during the time the last 50 samples were taken. 

D. The control charts are incorrectly computed. 

Correct Answer: C 

 

QUESTION 5

As the scatter of points about a regression line becomes less, r2 will 

A. Be unaffected. 

B. Become smaller. 

C. Become larger. 

D. Approach a value of 1. 

Correct Answer: D 
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